
Breakdown for the RM-22N Rotary Machine

"<t

w
~ If)

~ "<t

: I")
"<t

to

If)
If)

"<t rU---7
, "\\IN : /

If) / '~"-ud. / :
N.. /

~ ) N :

: m : C--_u, : to
/ N I") /: " / If), N '/ . ,

(. /: ~~. /
If) :.~ ~ ~ :

~N /,1") /
\. ~ //, :

\ : / r--- ;': u /OCJ. /,1") ,If) \ :/;'. /, .

\~'. /;/
rt!J
~ rw../ ...\ /: .VUJ

\'. : /
.v. '"
'V' If)

OCJ

~

5



I'IV. I'IV. ,",,"" I'I.nlvll ""."-"" ,""uallLlLY

1 RM22N-1 BodyAssembly 1
2 RM22N-2 . Base Assembly. 1
10. RM22N-1O. Key 6x6x20 4
11 RM22N-11 Upper Shaft 1
12 RM22N-12 Adjust Seat. .,... 1
13. RM22N-13.. Spring 1
14... RM22N-14... Screw. .. 1
16 RM22N-16 Handle Assembly. ... 1
17 RM22N-17 Collar 1
18 RM22N-18. Spring Pin 5x32 1
19. RM22N-19.. Spring Collar. 1
20.. RM22N-20 Spring.. .. 1
21 RM22N-21 Collar 1
22 RM22N-22 Set Screw M12x40 2
23... RM22N-23... Hex Nut M12 2
24 RM22N-24 Oil Cup 2
25 RM22N-25 Gear 2
26 RM22N-26.. Adjusting Nut . 1
29 RM22N-29 Collar . 2
30 RM22N-30 Gauge Seat 1
31 RM22N-31 : Gauge Stop 2
32 RM22N-32 Set Screw 1
33 ...RM22N-33.. Knurled Nut ... 4
34 RM22N-34 Lower Shaft 1
36 RM22N-36 Gear Cover 1
37 RM22N-37 Button Head Hex Screw 2
38 RM22N-38 Handle ,; 1
43 RM22N-43 Bushing 2

44 ~MllN.44 ~Qgdina ~Oll(ggt) J

. ~1I~~II_jj- . .,Till II ~I t " J
..." ~U~~~ I ~~ ~,

RM2~N-44-2' Closing Roll (set) ~
RM22N-44-3 Jonn l

'
nn Roll (set) " 2

1111"""" "... i1ii1 Oil

RM22N-44-4 Flanal
'
na Roll(set)."". "".. ."... 2

111111111111 11111111111'0000 V V

~~~~~JU " ~~.IIM ~~II [M
45 RM22N-45 Roll Nut . 2
49 RM22N-49 Base 1
50 RM22N-50 Screw. ... 1
52... RM22N-52... Handle... 1
53 RM22N-53 Set Screw ,. M8x40 1
54 RM22N-54 Socket Head Cap Screw.. M8x15.. 1
55. RM22N-55.. Pin. 8x45 1
56.. RM22N-56.. Set Screw.. M8x16 1
57 RM22N-57 Set Screw M6x6 1
58 RM22N-58 C-Ring 20 1

... .. .... .. .... .. .... ... .... .. ... ...............................................

60 RM22N-60 Hex Nut M8 1
RM22N-61 Spanner Wrench (not shown) 1
RM22N-10 10Label(notshown).. ... 1
RM22N-W Warning Label (not shown) 1
RM22N-J JET Label (not shown) 1

6




